INSTRUCTION MANUAL

T-318
Thicknesser (240V)
318mm

W800



2 Instruction Manual for T-318 (W800) 24/8/2012

Table of contents

SECTION PAGE
I Technical data ... .. ... .. ... 2
I General safetyrules . ... ... .. 3
M. Specific safety rules for the thickness planer .. ... ... ... ... ... ... . 5
V. Electrical infformation . .. ... . ... 8
V. Know your thickness planer . ... ... ... .. . 10
VI Assembly and adjustments .. ... . L . 1
VI 0peration . .. ... e 13
VIIL.  Maintenance . . ... . e 18
IX. Replacement parts . . . ... ... 22
X. Varmanty . e 24

I. Technical data

MOTOR: 220/240V, 50 Hz, 2000W
SPEED: 9000 RPM (no load)
CUTS PER MINUTE: 18000

MAXIMUM DEPTH OF CUT: 3/32" (3 mm)

MAXIMUM WIDTH OF WOOD: 12 1/2" (317.5 mm)
MAXIMUM THICKNESS OF WOOD: 6" (152 mm)

MINIMUM THICKNESS OF WOOD: 3/16" (5 mm)

WEIGHT 88 Ib (40 kg)

[~]




3 T instruction Manual for T-318 (W800) T w8012

II. General safety rules

Safety 's a combination of common sense, staying alert, and knowing how your thickness
planer works.

|

CWARNING: TO AVOID MISTAKES THAT COULD CAUSE SERIOUS INJURY, DO NOT

| PLUG IN THE THICKNESS PLANER UNTIL YOU HAVE READ AND UNDERSTOOD THE
! FOLLOWING RULES.

1.

w0

10.

11.

12.

13.

R 3

READ and become familiar with this entire instruction manual. LEARN the tool’s
applications, limitations, and possible hazards.

AVOID DANGEROUS CONDITIONS. DO NOT use power tools in wet or damp areas
and DO NOT expose them to rain. Keep work areas well-lit.

DO NOT use power tools in the presence of flammable liquids or gases.

ALWAYS keep your work area clean, uncluttered, and well-lit. DO NOT work on floor
surfaces that are slippery with sawdust or wax.

KEEP BYSTANDERS AT A SAFE DISTANCE FROM the work area, especially when the
tool is operating. NEVER allow children or pets near the tool.

DO NOT FORCE THE TOOL to do a job that it was not designed to do.
DRESS FOR SAFETY. DO NOT wear loose clothing, gloves, neckties, or jewellery (rings,

watches, etc.) when operating the tool. Inappropriate clothing and items can get caught in
moving parts and pull you in. ALWAYS wear non-slip footwear, and tie back long hair.

WEAR A FACE MASK OR DUST MASK. Planing operations produce dust.

ALWAYS unplug the power cord plug from the electrical outlet when making adjustments,
changing parts, cleaning, or working on the tool.

KEEP GUARDS IN PLACE AND IN WORKING ORDER.

AVOID ACCIDENTAL START-UPS. Make sure the power switch is in the OFF position
before plugging in the power cord.

REMOVE ADJUSTMENT TOOLS. ALWAYS MAKE SURE all adjustment tools are
removed from the saw before turning it on.

NEVER LEAVE A RUNNING TOOL UNATTENDED. Turn the power switch to the OFF
position. DO NOT leave the tool until it has come to a complete stop.

SAVE THESE SAFETY RULES




4 Instruction Manual for T-318 (W800) ) 24/8/2012

II. General safety rules (continued)

14. NEVER STAND ON A TOOL. Serious injury could result if the tool tips or is accidentally
jarred. DO NOT store anything above or near the tool.

15. DO NOT OVERREACH. Keep proper footing and balance at all times. Wear oil-resistant,

rubber-soled footwear. Keep the floor clear of oil, scraps, and other debris.

16. MAINTAIN TOOLS PROPERLY. ALWAYS keep tools clean and in good working order.
Follow instructions for lubricating and changing accessories.

17. CHECK FOR DAMAGED PARTS. Check for alignment of moving parts, jamming,
breakage, improper mounting, or any other conditions that may affect the tool's
operation. Any part that is damaged should be properly repaired or replaced before use.

18. MAKE THE WORKSHOP CHILDPROOF. Use padlocks and master switches, and
ALWAYS remove starter keys.

19. DO NOT operate the tool if you are under the influence of drugs, alcohol, or medication
that could affect your ability to use the tool properly.

YOUR HEALTH. ALWAYS OPERATE THE THICKNESS PLANER IN A WELL-VENTILATED
AREA. AND PERFORM PROPER DUST REMOVAL. USE A FACE MASK OR DUST MASK
WHEN OPERATING.

HEARING LOSS. ALWAYS WEAR EAR PROTECTION (SAFETY EAR MUFFS OR EAR
LELUGS) TO REDUCE NOISE LEVELS WHEN OPERATING.

WARNING: DUST GENERATED FROM CERTAIN MATERIALS CAN BE HAZARDOUS T0

WARNING: EXPOSURE TO EXCESSIVE NOISE LEVELS CAN RESULT IN PERMANENT |

) ALWAYS WEAR EYE PROTECTION THAT CONFORMS WITH

o&\ ’é CSA REQUIREMENTS.

S 2  FLYING DEBRIS can cause permanent eye damage.
@ E Prescription eyeglasses ARE NOT a replacement for proper eye

§ protection.

SAVE THESE SAFETY RULES




|
L1
5
1

W
AS

5 Instruction Manual for T-318 (W800) 24/8/2012

I11. Specific safety rules for the
thickness planer

ARN!NG DO NOT OPERATE THE THICKNESS PLANER UNTIL IT IS COMPLETELY
FMBi ED AND INSTALLED ACCORDING TO THE INSTRUCTIONS.

WHEN INSTALLING OR MOVING THE THICKNESS PLANER

A\J(HD INJURY FROM UNEXPECTED PLANER MOVEMENT:
Attach the rubber feet, and bolt or clamp the planer to a firm level surface where there
s plenty of room to move the workpiece through the entire cut.

Support the planer in a way such that the tables are level and the planer does not rock.

Place the thickness planer in a location where operators or bystanders will not stand in
ine with the wood while planing.

DO NOT STAND ON THE THICKNESS PLANER. Do not store materials above or near it.
Standing on the thickness planer to reach materials could result in serious injury if it tips or
is accidentally contacted.

BEFORE OPERATING THE THICKNESS PLANER

1.

Read, understand, and follow all operating instructions, safety rules, and symbols in this
manual, as well as the warning labels on the tool, before operating, maintaining, and
cleaning the thickness planer.

Check for proper assembly and proper alignment of moving parts.

INSPECT THE THICKNESS PLANER:
- If any part is missing, bent, or broken in any way, or if any electrical part does not work
7roperiy turn the planer OFF and unplug it. :
Replace damaged or missing parts before using the thickness planer.

Make sure the cutter head turns in the right direction. The top should move toward the
n-feed table.

SAVE THESE SAFETY RULES




- Instruction Manual for T-318 (W800) 24/8/2012

IIl. Specific safety rules for the
thickness planer (continued)

4. TO AVOID INJURY FROM JAMS, SLIPS, OR THROWN PIECES:

*  Use this planer to cut wood only.

* Plan your hand placement so that your fingers will not be in a place where a sudden
slip could cause them to slide or fall into the cutter head. When using only one push
block to feed the wood, do not put your other hand on the thickness planer or
workpiece.

* Avoid injury from thrown pieces. Make sure the knives are properly installed and the cutier
head knife screws are tight.

* Adjust the depth of cut to 1/32" (0.8 mm) or less for best results. A deep cut makes
feeding the wood harder, and can cause the wood to kickback.

* Use the right tool. Do not force the thickness planer to do a job that it is not designed
to do.

INSPECT YOUR WORK AREA:

* Keep the work area clean and free of clutter or debris. Clear the table of all objects nol
needed to feed the workpiece.

* Do not use the planer near flammable liquids, vapours, or gases.

* Do not perform layout, assembly, or setup work on the planer.

PLAN YOUR WORK:

« Carefully plan your hand placement. Make sure you have proper push blocks, jigs,
fixtures, stops, and other items ready to use.

* Avoid injury from unsafe accessories. Use only recommended accessories.

INSPECT THE WORKPIECE. Make sure there are no nails or foreign objects in the area of
the workpiece to be planed.

PLAN YOUR CUT:

* Small or thin workpieces can kickback when they tip over on the tables or the cutier
head.

* To avoid contact with the cutter head or workpiece kickback, do not plane workpieces
shorter than 6" (152 mm).

* Do not plane wood thinner than 3/16" (5 mm).

« Do not cut freehand. Guide the workpiece solidly. Make sure there is no debris between
the workpiece and the supports.

«  Use extra caution with large, small, or awkward workpieces.1

- Use extra support (tables, sawhorses, blocks) if it is hard to hold the workpiece down 1o
the table. Do not use another person as additional support, or to help feed, support, o
pull the workpiece.

* Do not cut more than one workpiece at a time.

SAVE THESE SAFETY RULES

6 N —




9 T instruction Manual for T-318 (W800) S 2482012

IIl. Specific safety rules for the
thickness planer (continued)

| 9 TOAVOID INJURY FROM ACCIDENTAL STARTING OF THE THICKNESS PLANER. Make
sure the power switch is in the OFF position before plugging the planer into a power source.

WHEN THE THICKNESS PLANER IS RUNNING
| 1. KEEP CHILDREN AND BYSTANDERS AWAY FROM THE PLANER.

2. ALLOW THE THICKNESS PLANER TO RUN FOR A WHILE BEFORE CUTTING. If it
makes an unfamiliar noise or vibrates, turn the thickness planer OFF immediately, and
then unplug it. Do not restart the planer until the problem is identified and corrected.

3. DO NOT FORCE THE TOOL. Feed the workpiece into the thickness planer only fast
enough to let the tool cut without bogging down.

4. BEFORE ATTEMPTING TO FREE JAMMED MATERIAL, turn the thickness planer OFF
and wait for all moving parts to stop. Unplug the thickness planer.

WAVRNING: DO NOT MAKE A CARELESS ERROR. A MOMENT OF NEGLECT CAN
| CAUSE A SEVERE INJURY.

SAVE THESE SAFETY RULES

I 7




8 . _ g Instruction Manual for T-318 (W800) 24/8/2012

IVU. Electrical information

GROUNDING INSTRUCTIONS

IN THE EVENT OF A MALFUNCTION OR BREAKDOWN, grounding provides the path of least
resistance for an electric current and reduces the risk of electric shock. This tool is equipped
with an electrical cord that has an equipment grounding conductor and a grounding plug. The
plug MUST be plugged into a matching outlet that is properly installed and grounded in
accordance with ALL local codes and ordinances.

DO NOT MODIFY THE PLUG PROVIDED. If it will not fit in the outlet, have the proper type of
outlet installed by a licenced electrician.

IMPROPER CONNECTION of the equipment grounding conductor can result in an electric
shock. The conductor with the green insulation (with or without yellow stripes) is the equipment
grounding conductor. If repair or replacement of the electrical cord or plug is necessary, DO
NOT connect the equipment grounding conductor to a live terminal.

CHECK with a licenced electrician or service person if you do not completely understand
the grounding instructions, or if you are not sure whether the tool is properly grounded

USE ONLY THREE-WIRE EXTENSION CORDS that
have 3-pronged plugs and 3-pronged outlets that accept
the tool's plug, as shown in Fig. A. Repair or replace a
damaged or worn cord immediately.

Fig. A

1. 3-pronged plug 2. Properly grounded oullet
3. Grounding plug

CAUTION: IN ALL CASES, VERIFY THE OUTLET IN QUESTION IS PROPERLY
GROUNDED. IF YOU ARE NOT SURE, HAVE A LICENCED ELECTRICIAN CHECK
THE OUTLET.

SAVE THESE SAFETY RULES




9 Instruction Manual for T-318 (W800) ) 24/8/2012

IV. Electrical information (continued)

GUIDELINES FOR USING EXTENSION CORDS

{WARNING: THIS THICKNESS PLANER IS INTENDED FOR INDOOR USE ONLY. DO
NOT EXPOSE TO RAIN OR USE IN DAMP LOCATIONS.

Make sure your extension cord is in good condition. When using an extension cord, be sure
to use one that is heavy enough to carry the current that your product will draw. An
undersized cord will cause a drop in line voltage, which will result in loss of power and

. overheating. The table below shows the correct size to be used according to cord length and
' nameplate ampere rating. If in doubt, use the next heavier gauge. The smaller the gauge
number, the heavier the cord.

Minimum Gauge for Extension Cords (AWG)

Ampere Rating Total Length of Cord in Feet (metres)
More Than Not More Than 25' (7.6 m) 50" (15 m) 100" (30.4 m) 150" (45.7 m)
0 6 18 16 16 14
6 10 18 16 14 12
10 12 16 16 14 12
12 16 14 12 Not Recommended

Be sure your extension cord is properly wired and in good condition. Always replace a
damaged extension cord, or have it repaired by a qualified person before using it.
Protect vour extension cords from sharp objects, excessive heat, and damp or wet areas.

Use a separate electrical circuit for your tools. This circuit must consist of not be less than

#12 wire, and should be protected with a 15 A time-delayed fuse. Before connecting the
motor to the power line, make sure the switch is in the OFF position and the electric current is

rated the same as the current stamped on the motor nameplate. Running at a lower voltage
will damage the motor.

| WARNING: THIS TOOL MUST BE GROUNDED WHILE IN USE IN ORDER TO PROTECT
| THE OPERATOR FROM ELECTRIC SHOCK.

SAVE THESE SAFETY RULES




10

Instruction Manual for T-318 (W800)

24/8/2012

A
B
G
D
E
F
G
H

V. Know your thickness planer

Cutter head depth adjustment handle
Up/Down direction decal

Storage compartment

Cutter head depth scale

Motor brushes

Measurement scale

Mounting holes

In-feed/out-feed roller extension knobs

TOoOZET X< T

Support/in-feed roller
Cutter head assembly
Reset button

ON/OFF switch
Carrying handle
Rubber feet
Support/out-feed roller
Dust chute

10




VT

| WARNING: IF ANY PART IS MISSING OR DAMAGED, DO NOT PLUG THE THICKNESS

1 © " lnstruction Manual for T-318 (W800) 24/8/2012

VI. Assembly and adjustments

Unpacking (Fig. 1)

Carefully unpack the thickness planer and all of its parts, and compare them against the list
below. Do not discard the carton or any packaging until the thickness planer is completely
assembled.

PLANER IN UNTIL THE MISSING OR DAMAGED PART IS REPLACED AND ASSEMBLY
IS COMPLETE.

Fig. 1

Planer
Dust chute

Spare set of blades
Knife depth/alignment tool

o >

oo

Hex screw and washer for cutter head
depth adjustment handle

E Rubber feet (4)

Hex keys (3)
Mounting bolts (4)

F
G
Cutter head depth adjustment handle H Knife alignment wrench
I
J




12 i
Instruction Manual for T-318 (W800) 24/8/2012

V1. Assembly and adjustments (continued)

ASSEMBLY

install the rubber feet and mount the thickness
planer (Fig. 2)

Before operating the thickness planer, install the four
rubber feet and mount the thickness planer firmly to a
workbench or other rigid frame.

1. Lift up the planer and place a rubber foot (1) in
position, aligning the hole in the foot with the
mounting hole on the planer.

Push each rubber foot onto the planer.

Place the planer on a workbench or rigid frame.
Place a mounting bolt through the hole (2) at each
corner of the thickness planner, and secure it to
the workbench or frame using quality hardware.

B wN

Install the cutter head handle (Fig. 3)

1 Place the cutter head handle (1) over the
spindle on the top of the thickness planer.

9 Secure the handle using the hex screw and
washer (2) provided.

Install the dust chute (Fig. 4)

1 Loosen the 3 bolts (1) at the rear of the cutter
head assembly, and move the washers away from
the surface so that they are next to the head of
the bolt.

5  Remove the 2 bolts and washers (2) from the top
of the cutter head assembly.

3. Align the 3 notches on the dust chute (3) over the
3 bolts (1) at the rear of the cutter head assembly.

4. Align the 2 holes on the top of the dust chute over
the 2 holes on the top of the cutter head assembly.

5. Tighten the 3 bolts (2) that secure the dust chute to
the rear of the cutter head assembly.

6. Replace and tighten the 2 bolts and washers (2),
that secure the top of the dust chute to the cutter
head assembly.




13 ~ Instruction Manual for T-318 (W800) - 24/8/2012

VII. Operation

1[ WARNING: IF YOU HAVE TO REMOVE A WORKPIECE FROM THE THICKNESS
J PLANER, MAKE SURE THE ON/OFF SWITCH IS IN THE OFF POSITION AND THE
|_F£)W[:R CORD IS REMOVED FROM THE POWER SOURCE.

]

ON/OFF Switch (Fig. 5)

1. To turn the thickness planer ON, insert the
safety key (1) into the slot. Move the switch to
the ON (up) position.

2. To turn the planer OFF, move the switch to the

; OFF (down) position.

| 3. Tolock the switch in the OFF position, grasp the

safety key (1) and pull it out of the switch.

Reset Button (Fig. 5)

In the event of an overload, the thickness planer is
equipped with an overload circuit.

If the planer experiences an overload:

Turn the ON/OFF switch to the OFF position.
Unplug the power cord from the power source.
Remove the workpiece, if present.

Plug the power cord back into the power source.
Press the reset button (2).

Turn the ON/OFF switch to the ON position.

M hwh =

3]




14 Instruction Manual for T-318 (W800) 24/8/2012

VII. Operation (continued)

Getting started

Before you start, check for loose fasteners or hardware. Make sure the cutter head knife
guard is securely mounted and the cutter head rotates freely.

With the power switch in the OFF position, lower the cutter head to about 1" (25.4 mm) to
the table. Turn the power switch to the ON position. Allow the planer to reach full speed
Watch and listen for excessive vibration.

If any excessive vibration is detected, turn the thickness planer OFF and unplug it from the
power source. Check for any loose parts. Tighten or make adjustments if necessary. Do
not operate the thickness planer until it is running smoothly.

Planing specifications

Plane select lumber or wood that has a minimum number of tight knots. Wood with many
knots or loose knots has a tendency to cause premature cutter head knife wear, and
increases the risk of unsafe operation.

Do not plane lumber or wood that is contaminated with metal, paint, dirt, water, or moisture
from tree sap, or wood that is severely bowed, warped, or twisted.

Practice on a scrap piece first in order to become familiar with the type of wood you are
planing. Take into consideration the hardness, grain pattern, dryness, and straightness o
the lumber or wood.

Stock Minimum Maximum
Thickness 3/16" (5 mm) 6" (152 mm)
Width 3/4" (19 mm) 12 1/2" (317.5 mm)
Length 8" (20.3 cm) unlimited
Depth of cut — 3/32" (3 mm)
14 ' =




15 Instruction Manual for T-318 (W800) 24/8/2012

VII. Operation (continued)

Planing operation

 The thickness planer will automatically feed the workpiece into and out of the cutter head.

Do not force the planer to work faster that it is designed to work. Damage to the workpiece
and the planer can result.

Thickness planers work best if at least one side of the workpiece is flat. If both sides are
rough, the planer should be used to create one flat side. Plane the opposite side after one
side is flat and smooth.

Planing should be carried out in steps in order to achieve the final planing thickness. If the
thickness is to be reduced by 1/4" (6.4 mm), 1/8" (3.2 mm) should be removed from each
side. This will also allow the planed workpiece to dry and cure uniformly.

Measure the thickest part of the workpiece that is being planed. Make light cuts on both
sides. .

Do not attempt to make a deep cut, or a cut that is deeper than 1/32" (0.8 mm). Make
several passes until the desired thickness is achieved. Light cuts create a finer finish.

Avoid snipe or depressions made by the cutter head knives at the beginning or the end of

| the board, by supporting both ends evenly. Keep the board level during the entire planing

operation.

E




16 Instruction Manual for T-318 (W800)

24/8/2012

VII. Operation (continued)

Feeding the workpiece (Fig. 6 and 7)

Always feed the workpiece with the

grain (1), if possible. If the workpiece must
be fed against the grain (2), make very
light cuts.

Hold the workpiece down firmly along the
workpiece guides and allow the planer to
automatically feed the workpiece to the
cutter head.

Note: The planer will automatically feed
the workpiece into and out of the cutter
head. Do not force the workpiece into the
planer or make the planer work faster that
it is designed to work. Damage to the
workpiece and the planer can result.

Workpiece support (Fig. 7)

Prevent sagging or snipe in the workpiece
during planing. Make sure the workpiece
is supported along its entire length. If
necessary, extend the length of the
in-feed and out-feed tables in order to
support the workpiece.
1. Loosen the in-feed/out-feed roller
extension knobs (3).

2. Pull the in-feed/out-feed extension
rollers (4) out to the desired length.

3. Tighten the knobs (3) to secure the
in-feed/out-feed table extensions.

Note: !f additional support is needed for
the workpiece, place supports on both
ends of the planer, or install the planer at

Fig. 6

. O/
S —‘)3?}5’”1

\

. O/
T -y

a depth where the planing surface is level with the workbench. The
supports must be at the same height as the planer in-feed/out-feed tables,
or the depth of installation must be such that the workbench is at the same

height as the planer.

s

e I



17

17 ~Instruction Manual for T-318 (W800) - 24/8/2012

VII. Operation (continued)

Setting the planing depth (Fig. 8 — 10)
Establish the starting point before attempting to plane

| the surface. The depth of the cutter head contact with
the workpiece should only be enough to brush the

surface. DO NOT set the cutter head too deep.

Measure the workpiece at its thickest point. Use the
measurement scale (1) at the feed side of the planer to
approximate the starting point of the first pass. Your first
attempt at planing is intended to brush the surface.

it is good practice to measure the workpiece after every
planing operation.

1. Turn the power switch (2) to the ON position.

7. Slowly guide the workpiece along the workpiece
guides into the planer. If the cutter head makes
contact with the workpiece, back the workpiece out
and raise the cutter head using the cutter head
depth adjustment handle (3).

3. Repeat the step of slowly guiding the workpiece
along the guides into the planer, rotating the cutter
head adjustment handle in increments of 1/8 of a
turn or less in order to lower the cutter head until it
just brushes the surface of the workpiece. This will
establish the starting point for the next pass.

4. Use the cutter head depth adjustment scale (4) to
determine the desired amount to plane. The planer
will automatically feed the workpiece into and out of
the cutter head. Do not force the planer to work
faster than it is designed to work. Damage to the
workpiece and the planer can result.

Remember, planing should be done in steps in order to
achieve the final planing thickness. If the thickness is to
be reduced by 1/4" (6.4 mm), 1/8" (3.2 mm) should be
removed from each side. Measure the workpiece after

. every planing operation.

Fig. 8
=1
R i %i h\
— 7 e
iz
i g\,
| &
A=5-
E=
Ao




18 Instruction Manual for T-318 (W800)

24/8/2012

VIIl. Maintenance

Replacing cutter head knives and cleaning

HANDLING THE KNIVES. THE CUTTING EDGE CAN BE VERY SHARF.

WARNING: TURN THE POWER SWITCH TO THE OFF POSITION AND UNPLUG THE
POWER CORD FROM THE POWER SOURCE BEFORE ADJUSTING, MAINTAINING,
CLEANING, OR LUBRICATING THE THICKNESS PLANER. USE CARE WHEN

—

i
1
1
\
|
i
I

Change one knife at a time. Take note of the orientation
of the knife and the knife anchor. Make sure the springs
below the knife stay in place when you remove and
install the knife.

Inspect the feed rollers after every use. Resin and tar
will build up. Use a non-flammable tar and pitch remover
solvent to clean the rollers.

Cutter head guard (Figs. 11 and 12)

1. Turn the thickness planer OFF and unplug it.
2 Rotate the cutter head depth adjustment handle (1)
to raise cutter head to the highest position.

3. Remove the cutter head depth adjustment

handle (1).

4 Remove the 4 cover screws (2) using the hex key
supplied.

5. Remove the cover (3).

6. Remove the 2 hex bolts and washers (4) that

secure the dust chute (5).

7. Use a clean dry rag to wipe away any build-up of
debris from underneath cover and the guard. Use
penetrating oil to clean all moving parts and the
depth adjustment screws. Apply a light coat of
medium weight oil after clean-up. Apply a light coat 6

of paste wax to the table and in-feed and out-feed

surfaces. Do not use too much wax; it can hinder
the planing and staining of your workpiece.

Knife removal (Fig. 12 and 13)

1 Rotate the cutter head at the pulley (6) so that one
knife is facing up.

2 Loosen the knife anchor screws (7) by turning the
screws in a clockwise direction (8).

3. Carefully remove the knife.

18—




19 Instruction Manual for T-318 (W800) 24/8/2012

VIII. Maintenance (continued)

| WARNING: TURN THE POWER SWITCH TO THE OFF POSITION AND UNPLUG THE
POWER CORD FROM THE POWER SOURCE BEFORE ADJUSTING, MAINTAINING,
CLEANING, OR LUBRICATING THE PLANER. USE CARE WHEN HANDLING THE
KNIVES. THE CUTTING EDGE CAN BE VERY SHARP.

Knife installation (Fig. 14 and 15)

1. Clean knives regularly. Gum and pitch collects on
knives, and causes excess friction during operation.
Knives will overheat and wear. Remove knives to
clean. Use a gum and pitch remover.

2. Carefully place the knife (1) back in the cutter
head (2). Make sure the springs (3) are in place.
The knife must be installed as shown in Fig. 14.

3. Place the knife depth/alignment tool {4) on the cutter
head, as shown in Fig. 14, with the lobe (5) making
contact with the edge of the knife.

4. Apply light pressure to the knife depth/alignment
tool (4) and make sure the knife and knife
anchor (6) are centred in the cutter head.

Note: The knives and the knife anchors must be Fig. 15 8 4 \
centred in the cutter head. If the knives and anchors

are not centred in the cutter head, they will rub
against the cutter head carrier and planer damage
will result.

5. While applying light pressure to the knife
depth/alignment tool (4), tighten the anchor
screws (7) by turning in a counter-clockwise
direction (8) alternately from one side to the other,
starting from the outside and working toward the
inside. Repeat these steps for the second knife.

6. Reinstall the guard and the cover. Use care when
installing the planer cover, and make sure the
measurement scale is outside of the cover.

7. Clean the exterior of the planer with a clean dry rag.
Apply a light coat of paste wax in order to ease
cleaning and reduce dust build-up.

(@]




20 Instruction Manual for T-318 (W800) 24/8/2012

VIII. Maintenance (continued)

Sharpening cutter head knives (Fig. 16) Fig. 16

The knives can be honed individually using an ordinary
oilstone (1). Make sure the oilstone is not worn in the
centre, it must be flat. Be sure to remove any burrs on
the flat side. If the blades are nicked, they must be 1
replaced or reground. Blades can be reground several
times until they become 9/16" (14 mm) wide. Have your
blades reground by an experienced person.

WARNING: BE SURE TO UNPLUG THE POWER CORD FROM THE POWER SOURCE |
BEFORE INSPECTING THE CARBON BRUSHES.

Carbon brush replacement (Fig.' 17)
Fig. 17

Check the condition of the carbon brushes after
50 hours of use. If the brushes are worn to 1/16"
(2 mm) in length, replace them.

To inspect the carbon brushes:

1. Loosen and remove the two brush caps (1) (front
and rear) using a slotted screwdriver.

2. Carefully remove the caps from the motor. The
caps are spring-loaded from the spring on the
brush. Take note of their position inside the motor.

3. Pull out the brush. Inspect the brush (2) and
replace it if necessary. Be sure to replace both
brushes at the same time even if only one is
damaged.

Note: After inspecting the brushes, be sure to
install the brushes into the same position that they
were removed from if you are not installing new
ones.

4. Position the brushes inside the motor. Tighten the
brush caps snugly. Do not overtighten.’

20 —

I ———————————EA A




21 Instruction Manual for T-318 (W800)

24/8/2012

VIII. Maintenance (continued)

Storing (Fig. 18 and 19)

Store the planer in a cool dry place. Clean and
lubricate prior to storage.

Apply a light coat of oil to the knives in order to
protect them from moisture. Be sure to clean the
knives after storing.

Place the knife depth alignment tool and the
wrenches inside the storage compartment (1) in
the cover

Fold up the power cord {2) and place it on top of the
cutter head assembly at the rear of the thickness
planer.

Fold the in-feed and out-feed rollers up when the

planer is not in use.




22

Instruction Manual for T-318 (W800)

24/8/2012

IX. Replacement parts

No.| Description Qty | No.| Description Qty| No.| Description Qty
1 | Nut, M6 4 52 | Retainer 40 1 [103 |Screw, M5x10 2
2 | Thread rod 6x25 4 | 53| Key, 5x11 1 |104 |Motor housing 1
3 | Flat washer 6 8 | 54 | Driven wheel 1 [105 |Stator 1
4 | Spring pin, 3x18 4 | 55| Nut, M16x1.5 1 |106 |Baffle plate 1
5 | Jointer 4 | 56 | Belt 1 |107 |Bearing 6200-2Z 1
6 | Nut, M6 8 | 57 | Dust chute 1 [108 |Screw, M5x60 2
7 | Screw, M6x20 4 | 58| Screw ST6x20 2 109 |Armature 1
8 | Stopper (B) 4 | 59| Body 1 |110 |Bearing 6200-2Z 1
9 | Extension bar 4 | 60| C-cover 1 |111 |Gear box cover 1

10 | Rall pole 2 | 61 ] Indicator 1 [112 |Bearing (C) 2
11 | Shaft 2 | 62| Screw, M4x10 4 (113 |Gear (B) 1
12 | Extension table 2 | 63| Flat washer 4 17 |114 |Switch 1
13 | Spring pin, 3x16 4 | 64 | Sprocket wheel 1 [115 |Shaft (A) 1
14 | Nut, M5 8 | 65 | Motor assembly 1 |116 |Power cord 1
15 | Flat washer, 5 41 | 66 | Stop pin 2 1117 |Cord bushing 1
16 | Bar holder 4 | 67 | Sprocket gear 4 |18 |Strain relief | 1
17 | Hex bolt, M5x16 8 | 68| Washer 3 |19 |Screw, ST4.2x12 4
18 | Screw, M4x8 12 | 69 | Spring washer 6 6 120 |Shaft (B) 1
19 | Link block 2 | 70| Screw, M6x16 3 121 |Key, 3x7 1
20 | Pin, ®2.5x12 4 | 71| Crank handle assembly 1 {122 |Gear (C) 1
21 | Rubber feet 4 | 72| Top guard (B) 1 [123 |Bearing (D) 2
22 | Screw, M8x20 8 | 73| Rotation mark 1 |124 |Sleeve 2
23 | Hex bolt, M6x25 4 | 74| Screw M4x20 2 [125 |Wave washer 4 3
24 | Spring washer 8 4 | 75| Tool box 1 1126 |Screw, ST5x60 1
25 | Cable clip 1 | 76 | Tool box cover 1 1127 |Screw, ST5x50 3
26 | Flat washer 8 4 | 77 | Screw, M4x8 6 |[128 |Shaft 1
27 | Retainer 10 4 | 78| Top guard (A) 1 1129 |Key, 4x10 1
28 | Cone gear 4 | 79| Chain 2 |130 |Bearing 1
29 | Column 4 | 80 | Side cover 1 1131 |Motor label 1
30 | Guide plate 2 | 81| Nut M4 2 [132 |Carbon brush 2
31 | Spacer 2 | 82| Bushing (A) 3 (133 |Brush cap 2
32 | Threaded pole (A) 1 | 83| Bushing (B) 1 |134 |Retainer 16 1
33 | Key, 4x8 4 | 84| Retainer 37 1 135 |Gear (A) 1
34 | Block 2 | 85| Spring (A) 1 |136 |Bearing 1
35 | Base 1 86 | Bearing 6202-2RZ 1 137 |Gear box 1
36 | Side cover 2 | 87| Spring (B) 3 138 |Sponge pad 1
37 | Scale 1 | 88| Bearing (A) 4 1139 |Dust guard 1
38 | Rivet 6x25 4 | 89 | Bearing clamp 4 |140 |Current protector 1
39 | Screw M6x20 3 | 90| Screw, M5x10 4 141 |Plug 4
40 | Spring washer 9 16 | 91 | Gumpression spring (B) 1 |142 |Scrow, ST2x8 2
41 | Screw, M5x12 29 | 92| Roller guide 2 1143 |Cover 1
42 | Knob 2 | 93| Blade shaft 1 {144 |Nut, M12 1
43 | Spring block 4 | 94 | Thread sleeve (LH) 1 |145 |Block 1
44 | Thread sleeve 1 | 95| Thread pole (B) 1 |146 |Screw, M4x12 1
45 | Adjustment nut 2 | 96 | Transport rod 1 1147 |Spring washer 4 1
46 | Spacer 4 | 97 | Bearing (B) 2

47 | Work table 1 | 98 | Anti-dust cover 1 1999 |Instruction manual (not shown) | 1
48 | Blade 2 | 99| Screw, M5x8 6

49 | Blade clamp 2 | 100 | Link block (RH) 2

50 | Screw 14 {101 | Compression spring (A) 1

51 | Bearing 6203-2RZ 1 |102{ Brush holder 2

—{22] —




24/8/2012

Instruction Manual for T-318 (W800)

23

IX. Replacement parts (continued)

23




24 Instruction Manual for T-318 (W800) 24/8/2012

IX. Replacement parts (continued)

Motor Assembly

H




24/8/2012

Z0-1ew :91eQ

Instruction Manual for T-318 (W800)

25

< Jabeuep
988€ 0686 (Z0) xed LLL6 0686 (Z0) auoyd £56 982 000 96 NV
" eoujo Aajes 7512 MSN QVIWHLYON ‘YO HOSANIM Z .NOLLONAT THL. TononAEaNTSvE
:Aq paubis pue pasuoyiny \
\SIFH01/IUVYH
SUOIONJISUI SaJNjoBINUEL Y)IM uonounfuod ul peal aq o} weibold Aj9jes jueld
‘1snd
UO[JOE.X® }SNP 0] Paj08uUu0d 8q 1SNy ‘ISION 0
‘pauinbau se uojosjoid Buueay Jespp MO1 'SAYVYZVH 43HL0
"UBIDU08|T pasusol e AQ paxoayd g pa|ieisul 8q pnoys sulyoepw
"BuIyoBL auy) yum jday 8q 03 Jou s Jey} 00} B yim pauado aq Aluo pnoys SaUnsojous [eowjos)e |y WNIa3IN AvIIYL03713 H
: ‘[BUBIBW 10} S8)B1 PV} J09L0D 8SN 0} 8INSUT] . ’
) "Sauf | Je UJoM aq JSnu ¥Sew 8oe} y
"auiyoew oju; Buipesy usym Jequily pujyeq puejs jouoq WNIG3IN ONIIYLS 4
"UO S| SUIYOBLW UBYM JNYs palnoas ale spienb ||e ains exep WNIa3w ONINVIHS a
"UO S| BUIYDBW UBYM JNYS painaas ale spienb ||e ains axep
sy Buljpuey uaym uaxe} aq jsnw aien
‘Aiesseoau alaym ¥ons ysnd e esn ‘sped Bujaow pue sape|q ||e Jo Jes)d spuey desy
‘paddols Aj218|dwo sey sulysew ayj jjun spisul uesd Jo uado jou oQg ONIYNLONNG
‘goueUSjUIEW JO SHoaUD Aue 0] Joud auyoew o} Jamod 8jejos| WNIa3Iw ‘ONIgEVY.LS ‘ONILLIND o)
eale Bunoad pue Buidwelo ‘Buneoo; woly Aeme jjom ale spuey sajqe} Jauueld Bujjey pue Buisi usym jey sins sg
papoddns aq jsnu Jaquip JaireaH MO ONIHSNYO g
"9}8 Jrey Buo / Bulyolo 8s00| ploAe ‘B)eulwil3 HOIH ININITONVINT v
(desn 7 Jahng | @seyoind Joj pepuswLcosy) Jusauwissassy uonesyluap| ‘ON
sa|bajenyg jou0) ysiy piezeH plezeH way|
(v661-0101:OSHON)IUB|d 10} PIEPUEIS 3jESHIOM UBlEAsSNY 8y} uodn peseq s| welboid siyL
salnjoenUE JO JaquieyD BIelsSNY PUB v'S'|'AM'Y Usamiag uonelado-og ul pedojarsg
0O04VYH ‘pueig a ‘|spo 19ss9UNIIY | :uopdiaosaqg
008M ‘8poJ 32018

TOYLINOD ® INIWSSISSV ‘NOILVOIIFILNIAI GYVZVH AYINIHOVIN MIN
JNNVHO0Ud AL34VS LNVd






